B2 75 (B 356 BEER)

FATSERT T35 22 B Bk 5

be={1{[}
ZH]

(faamie AL - BEESSS)

LF & 5 |METHELG| R B2 LS Rk

T = 4 RN 24 BE A AL R H ik 7 26 L S B K A AT R T (IS X))

BB A SF

T % & FATERT A S

H S o2 £ 7 A 2T H
T # T == H 5l EAKGEROKE AT T
= SF 3 4 2 H 28 A

f& 4 P MW A B MLBINE K FEA R B E ORI EE P4

WAL 4 Hh i 2 T ORR) T 1E M R RELT B 105
% fL & & ¥ 26,100,000~ (Bitk) Al 4 B ¥ 28,090,000~ (Bitk)
E Al k& FELABH % AL ®
5 A5 1) R AT 4% 1N
T 15 TR i P
F F > 7%
U SRR ] ¥ 28,710,000~ (Biir) oA R 92.92%  CRIEALAHE+RAEH)
B E | Nreni-aemivresitace o MLR | BF1 2 4 7 1 20 A
% * % & i % # 4 & il
1 H & T2(0F) 28,000,000 |11
2 (BRI 26,680,000 |12
3 T T (RR) 26,100,000 |13
4 (¢S -Emm 26,960,000 |14
gﬁ%,f gﬁ 5 AT 28,000,000 |15
6 BYe = 16
7 17
8 18
9 19
10 20

FRTEHEHICROIETRK

2 W O i B =
AN
%E%%é B H SEw il s A H
H ES) ot F A A




